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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‘A’ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What do you understand by Accounting Concepts ? 

Explain the various Accounting Concepts. 

ys[kkadu vo/kkj.kkvksa ls vki D;k le>rs gSa \ fofHkUu 

ys[kkadu vo/kkj.kkvksa dh O;k[;k dhft,A 

2. Give the Journal Entries required to be passed in the 

books of vendor under instalment payment system. 

fd’r Hkqxrku i)fr ds vUrxZRk foØsrk dh iqLrdksa esa fd;s 

tkus okys tuZy ds ys[ks nhft,A 

3. What is Trial Balance ? Describe the methods of 

preparation of Trial Balance. 

ryiV fdls dgrs gSa \ ryiV cukus dh fof/k;ksa dk o.kZu 

dhft,A 

4. Below is given the Trial Balance of ABC Ltd. in 

respect of the year ending 31st March, 2018. Prepare 

Final Accounts ABC Ltd. : 

 ` ` 

Purchases and Sales 70,000 80,800 

Sales Returns 800  

Opening Stock 25,000  

Bad Debts 500  

Depreciation 2,000  
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General Charges 1,000  

Provision for Bad Debts  2,000 

Salaries 3,000  

Capital  58,500 

Cash 9,000  

Debtors and Creditors 21,000 20,000 

Furnitures 5,000  

Outstanding Salaries  1,000 

Plant 25,000  

 1,62,300 1,62,300 

Adjustment : 

(i) Closing Stock ` 30,000. 

(ii) Create provision for Bad Debts @ 10%. 

(iii) Charge Depreciation on Plant @ 5%. 

ABC fy- dk 31 ekpZ] 2018 dks lekIr gksus okys o”kZ dk 

ryiV uhps fn;k x;k gSA ABC fy- ds vfUre [kkrs  

cukb;s % 

 ` ` 

Ø; o foØ; 70,000 80,800 

foØ; okilh 800  

izkjfEHkd jgfr;k 25,000  

v’kq) _.k 500  

kl 2,000  

lkekU; O;; 1,000  
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v’kq) _.k izko/kku  2,000 

osru 3,000  

iw¡th  58,500 

jksdM+ 9,000  

nsunkj o ysunkj 21,000 20,000 

QuhZpj 5,000  

vnŸk osru  1,000 

Iyk.V 25,000  

 1,62,300 1,62,300 

lek;kstuk,¡ % 

(i) vfUre jgfr;k ` 30]000A 

(ii) v’kq) _.k gsrq 10% dh nj ls izko/kku dhft,A 

(iii) Iyk.V ij 5% kl yxkb;sA 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‘B’ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Define Accounting and explain its scope. 

ys[kkadu dh ifjHkk”kk nhft, vkSj blds {ks= dh O;k[;k 

dhft,A 
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2. Journalise the following transactions in the books of B : 

April  ` 

1 Started Business with cash 50,000 

2 Purchase from X 10,000 

3 Salaries paid 3,000 

4 Sales to R 30,000 

5 Machinery Purchased 50,000 

6 Interest Received 2,000 

fuEufyf[kr ysu&nsuksa dk B ds jkstukepk esa ys[kk dhft, % 

vizSy  ` 

1 jksdM+ ls O;olk; vkjEHk fd;k 50,000 

2 X ls Ø; 10,000 

3 osru fn;k 3,000 

4 R dks foØ; fd;s 30,000 

5 e’khujh Ø; dh 50,000 

6 C;kt ik;k 2,000 

3. What is Capital Expenditure ? Explain with example. 

iw¡thxr O;; D;k gS \ mnkgj.k lfgr O;k[;k dhft,A 

4. Differentiate between Consignment and Sales. 

izs”k.k o foØ; esa vUrj crkb;sA 

5. Give your argument against secret reserve. 

xqIr lap; ds foi{k esa vius rdZ nhft,A 
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6. Enter the following transaction in a cash book a with 

two column, viz., cash and bank : 

Jan. 

2018 
 

` 

1 Opening balance of Cash 300 

 Bank Overdraft  2,000 

2 Goods sold for cash 6,000 

4 Cash deposited into Bank 6,000 

6 Cash withdrew from Bank 1,000 

15 Rent paid by cheque 400 

fuEufyf[kr ysu&nsuksa dk nks [kkuksa okyh jksdM+ cgh vFkkZr~ 

udn o cSad esa ys[kk dhft, % 

tuojh 

2018 

 

` 

1 udn dk izkjfEHkd ‘ks”k 300 

 cSad vf/kfod”kZ 2,000 

2 eky dk udn foØ; fd;k 6,000 

4 cSad esa udn tek fd;k 6,000 

6 cSad ls udn fudkyk 1,000 

15 fdjk;k pSd ls fn;k 400 

7. What are the advantages of invoicing goods to branch 

at invoice price ? 

chtd ewY; ij ‘kk[kk dks eky Hkstus ds D;k ykHk  

gSa \ 
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8. What is self-balancing system ? Explain its objectives. 

Lodh; lUrqyu iz.kkyh D;k gS \ blds mís’;ksa dh O;k[;k 

dhft,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‘C’ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the correct answer : 

lgh mŸkj dk p;u dhft, % 

1. Writing of transactions in different books of Accounts 

is known as : 

(a) Book-keeping 

(b) Cost Accounting 

(c) Financial Accounting 

(d) Management Accounting 

ys[kksa dks fofHkUu iqLrdksa esa ys[ku fuEufyf[kr esa ls D;k 

dgykrk gS \ 

¼v½ iqLr&ikyu 

¼c½ ykxr ys[kkadu 

¼l½ foŸkh; ys[kkadu 

¼n½ izcU/k ys[kkadu 
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2. Double Entry System was introduced in : 

(a) America 

(b) Japan 

(c) India 

(d) Italy 

f}&izfof”V iz.kkyh dk vkjEHk fuEufyf[kr esa ls dgk¡ gqvk  

Fkk \ 

¼v½ vejhdk 

¼c½ tkiku 

¼l½ Hkkjr 

¼n½ bVyh 

3. Drawings Account is : 

(a) Personal Account 

(b) Real Account 

(c) Nominal Account 

(d) None of these 

vkgj.k [kkrk fuEu esa ls D;k gS \ 

¼v½ O;fDrxr [kkrk 

¼c½ okLrfod [kkrk 

¼l½ ukeek= [kkrk 

¼n½ buesa ls dksbZ ugha 
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4. Indian Accounting Standards are issued by : 

(a) Reserve Bank of India 

(b) Central Government 

(c) State Government 

(d) Institute of Chartered Accountants of India 

Hkkjrh; ys[kkadu ekudksa dks fuEufyf[kr esa ls fdlds }kjk 

tkjh fd;k tkrk gS \ 

¼v½ Hkkjrh; fjtoZ cSad 

¼c½ dsUnzh; ljdkj 

¼l½ jkT; ljdkj 

¼n½ Hkkjrh; pkVZMZ ys[kkdkj laLFkku 

5. An order was received from Mr. A for goods worth  

` 10,000. The Account to be credited is : 

(a) Mr. A’s A/c 

(b) Sales A/c 

(c) Goods A/c 

(d) None of these 

` 10]000 ds ewY; ds eky ds fy, fe- A ls ,d vkns’k 

izkIr gqvkA /kuh ¼ØsfMV½ fd;k tkus okyk [kkrk % 

¼v½ fe- A dk [kkrk 

¼c½ foØ; [kkrk 

¼l½ eky [kkrk 

¼n½ buesa ls dksbZ ugha 
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6. Trial Balance is : 

(a) A Statement 

(b) A Summary 

(c) An Account 

(d) None of these 

ryiV fuEu esa ls D;k gS \ 

¼v½ ,d fooj.k  

¼c½ ,d lkjka’k 

¼l½ ,d [kkrk 

¼n½ buesa ls dksbZ ugha 

7. The first stage in Computerized Accounting System  

is : 

(a) Excel 

(b) Tally 

(c) Iflex 

(d) None of these 

dEI;wVjhd`r ys[kkadu iz.kkyh dk izFke pj.k fuEu esa ls D;k 

gS \ 

¼v½ ,Dlsy 

¼c½ VSyh 

¼l½ b¶YksDl 

¼n½ buesa ls dksbZ ugha 
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8. Under Instalment Payment System, it the buyer fails to 

make its payment, the vendor can : 

(a) Charge Interest 

(b) Sue the buyer for payment 

(c) Repossess the goods 

(d) Any of these options 

fd’r Hkqxrku i)fr ds vUrxZRk] ;fn dksbZ Øsrk iw.kZ Hkqxrku 

djus esa vleFkZ jgrk gS] rks foØsrk fuEu esa ls D;k dj 

ldrk gS \ 

¼v½ C;kt dh olwyh 

¼c½ Øsrk ij Hkqxrku ds fy, nkok 

¼l½ eky dh okil izkfIr 

¼n½ buesa ls dksbZ Hkh fodYi 

9. Depreciation is provided on : 

(a) Fixed Assets 

(b) Current Assets 

(c) Intangible Assets 

(d) Debentures 

kl fuEufyf[kr esa ls fdl ij dkVk tkrk gS \ 

¼v½ LFkk;h lEifŸk;ksa ij 

¼c½ pkyw lEifŸk;ksa ij 

¼l½ vn`’; lEifŸk;ksa ij 

¼n½ _.ki=ksa ij 
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10. What shall be the amount of capital if Cash is 

` 10,000; Fixed assets ` 1,20,000; Stock ` 60,000 and 

Creditors ` 60,000 ? 

(a) ` 1,30,000 

(b) ` 1,90,000 

(c) ` 2,40,000 

(d) ` 2,50,000 

;fn jksdM+ ` 10]000( LFkk;h lEifŸk;k¡ ` 1]20]000( LdU/k  

` 60]000 rFkk ysunkj ` 60]000 gksa] rks iw¡th dh jkf’k fuEu 

esa ls D;k gksxh \ 

¼v½ ` 1]30]000 

¼c½ ` 1]90]000 

¼l½ ` 2]40]000 

¼n½ ` 2]50]000 
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